Addition and subtraction of integers

Grade 5 Integers Worksheet
Solve the following.

198 - (-88) + (-97) = 1133 - 48 + (-34) =

2 .29-31-28 = 12 57+43-97 =
918 + (-28) - (-73) = 1969 - (-62) + 92 =
968 - (-68) — 55 = 55 -9+ (-37) =
5-48 + 22 - (-17) = 1589 + (-94) — 43 =
645 - 93 + (-65) = 1) 27 -66-74 =

7 91-81+31= M95 + 0 - (-90) =

8 -77-42-20 = 18)56 + (-82) - 26 =

9 -50+80+(-86) = 19 -565+(-62) + (-15) =
10054 - (-57) - 3 = 2041 - (-19) - (-75) =
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Addition and subtraction of integers

Grade 5 Integers Worksheet

Answers:

198 - (-88) + (-97) = 89

2 -29-31-28 = -88

318 + (-28) - (-73) = 63

468 — (-68) — 55 = 81

548 + 22 - (-17) = -9

€45 - 93 + (-65) = -113

7 91-81+31=41

8 _77-42-20=-139

1133 - 48 + (-34) = -49

2) 57 +43-97 = 3

1369 - (-62) + 92 = 223

WB55-9+(-37)=9

15)-89 + (-94) - 43 = -226

10) 27 -66-74 = -113

95+ 0 - (-90) = 185

18)56 + (-82) — 26 = -52

9 -50+80+(-86) = -56 19) .55+ (-62) + (-15) = -132

1054 - (-57) - 3 =108 2941 - (-19) - (-75) =135
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